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l. Eq e:Ft-Et * frti fi s.r{ ES rrg frdRd ralmq( Blrrqr 3t1mq|F. frkS I

2. ifrHftqffitn{gqirr+nqdT+A qr{6-Al r

3. Err njFr-c-{ 6r yf,r q*fr qr ftft Gffi Vo qNr + Afrq, Ak-{nS v<t 6'r rrar 95 6
*+qGs r

PART - A
(cau-s u)

State whether the following statements are True / False / Fill in the
blanks:- (1x5=5)

ErrltRqfr*sr

I

P.T.O.

Instructions for Candidates
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(a)

(b)

(c)

2

Previous year always comes after the end of assessment year.

Salary received by Member of Parliament is taxable under the head

"Income from Salary".

Income from self-occupied house property cannot be negative.

(d) Maximum tax free limit for payments received under voluntary retirement

scheme is Rs.

(e) Under the head 'income from house property' statutory deduction

under section 24 (a) is
3OVo)

of annual valte. (2O7o,25Vo,

{dE} fr ftq slm vs * qr srs-s :

(m) X4 q{ q-t fiui<ur s{ * qre indr * I

(ra) wce t-+e ERT Erkr +fr{ '+d.r + **' ;; 6fo I tt *rq i r

(rr) e:afuon<rftgav<frfr eitq;rfiRrtr6 <fiiq-6-fr r

(v) €fu-+ mgt +s-{r + qEi-{ Tqffn + frs BrErs-dc tn et gtr <

*r

(s )'5e wrfu i{rc' + fi+6 sret+ qm z a ( a) * qti-{ qrF6 {q 61 rrErs-*t *rF-+-

q-i}fr (2OEa,25Eo,30%)

Ms. X, a private sector employee has earned the following income during

financial year 20l4-2015 :-
2
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She has been provided a motor car of 2000 CC by her employer for both

official and personal purpose. The car expenses including driver salary is

met by the employee.

She lives in rented house in New Delhi and paying a rent of Rs.5,000 per

month. She purchased Kisan Vikas Patra from post Office for Rs. 10,000.

She also contributed 20Vo of her salary to Recognized Provident Fund.

She paid Rs. 10,000 each as.premium on the life policy of her husband

and father. Compute her total income and tax liability for the assessment

year 2015-16. (15)

Particulars Rs.

Basic Salarv 35,000 p.m

DA @ 807c of Basic Salary

Entertainment allowance 3,000 p.m

Professional tax paid by employer on behalf of Ms. X 5,000 p.a

Bonus 25,000 p.a.

Employer's Contribution to RPF @ 157o l57o of salary

Interest credited to RPF @ 13% 1,30,000

Transport allowance 2000 p.m

Reimbursement of medical expenses

Free telephone facility at home 1500 p.m.

House Rent Allowance 5,000 p.m.

Children Education Allowance 150 p/m fbr
3 children

OR

P.T.O.

24,000 p.a.
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(a)

4

'A; a citizen of India, left India on 2l.lO.2Ol2 for employment abroad.

Earlier to this date, he has always been in India. During financial year

2Ol4-2O15 he came to India on 02.O2.2015 for 200 days.

Determine his residential status for assessment year 2Ol5- 2O16. (5)

(b) Explain briefly the deduction u/s 80 C of the Income Tax Act, 1961 in

respect of Life Insurance Premium, Contribution to provident Fund,

Deferred Annuity and Subscription to certain Equity Share, Debentures

etc,? (5)

(c) Who is a senior citizen and super senior citizen under Income Tax Act,

1961 ? What is the maximum exemption limit applicable to their income

for the assessment year 2015-16 ? (5)

gfr x,vo ffi +d 6{arft, R? e{ zota-rs * &r-t ffiftra snq qqr$ fr:-

ftl

ffinaln +fi 35.000 cfr{rd

DA 80% of arqRTr +tr{

r*tw+ rrr 3.000 vkcrd

g* v* 6r ffisr unt kn qt 5,000 Yk{rd

++s 25.000 cfrqr6

RPF @15% ffim'r ar *rrqr{ 157o }c;r

1,30,000

qkl[Iflr qtrr 2000 cftql6

Rfr.ilr qdf fr nFEffi 24,000 cRcr6

qt T{ ltr tA+{ 1500 cRcrd

qqr+ fu<rqt rer 5-000 Efrqr6

qrs6 ftrelur lrflr 150 Efrcr6

3qdi*ftv

RPF{ qro @ l37o
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o* zooo cc d qtct qn sc* ffimr t ffi qrqfdq B*r qfurro ocftr * fre ft-ff * r

+n * rei dt qrr<t 6r +ira e-ffi era Rqr vrar I r,
q6 nt ftd + m * qmrr i rrft I funnr ftrrqr < 5,000 !ft qr6 * r ss+ +€ ffi'{
+ ftqFr frs'rg q{ rqtlt { 10.000 r vs+ i{c} }eq qr 207, cr{rdl vtw iRe st i
+jrdri frqr r ys+ Brc+ cft eit fr-dr d fi-+< ffcr qrftft qt I 16,666 flftq{ frql | ${
fuliq sS 2or5 - 16 * frs E-d snq *t qt afr'€ * rrum dfrg r

3I?l?[

(q,,) rrna * <rrrko 4 * q q6 fr frtrr + t-s{R + frs + frqr 2 l. 10.201 2 d I E{

<rt{stq6+E6Etvn qrcair{f,r enqr qr r Eils{ 2014-15++{-rc6 o2.o2.2o15

* zooH*frq enqr r

or fiuk"r e{ 2015-16 + fts iEfr Bil-sr$q ft{R aro dfrg r

(re) snu-+r atrfr{q, 1961fr trrir soc* wftrrfi-+tftrnfuq,iBcss++{r<T,
rarFrd qrffi *t qwr srw <qr zorq-e t qsr i{rh qr vftr< sol<6t r

(rr) v*- efu arrrfto ofu 3w afu <rrrtr* sn+qt irtlfr{q 1961 + Bt{* ? o'tfiuftur

s{ zots-to * fts i{c qft ilfuq-f,q qrm ftqr wr * ?

ITEMS HOUSE 1 IIOUSE 2

4.00.Ofi) 4,00,000

Fair rental value 5,00.000 5,00,000

Municipal taxes paid 40,000 40,000

Use of house Self occupied Irt out @

Rs.50,0fi) p.m

Repair expenses 40.000 40,000

10,000 10,000

Housing Loan taken on 01-04-2014 25,00,000 25,00,000

Rate of interest I2Vo p-a l27o p.a

P.T.O.

3. (a) Mr. X owns two houses. Compute his total income from the following
details for the year ending 31" March, 2015

Municipal value

Fire insurance
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Both Houses were purchased on Ol-O4-2014.

The interest and loan are still payable. Can he claim depreciation on these

houses ? (10)

(b) How would you determine the residential status of an individual under section

6 of the Income Tax Act ? Explain. (5)

OR

(a) How will you determine the valuation of following perquisites

(i) Sale of movable assets to his employees

(ii) Valuation of Accommodation at concessional rates (10)

(b) Incidence of Tax depends upon Residentidl Status. Explain. (s)

rrE qr1 q{2

+r<qrfu+r xs 4,00,000 4,00,000

3fud frIrcr {s 5,00,000 5,00,000

{JRcrks'r fi 36rcr 40,000 40,000

rror+ or q*rr qt: crEr*n t Mqto
50,000 vfrcr6

T{Ekt q'T 40,000 40,000

10,000 10,000

25,00,000 25,00,000

127a 9.4. l27a 1.4.

(o-) fr. xdut6rRrfte r 31qd 2015*{qrws{*ftvwfrEa srqfrqum

dfrs r

3{F{ AqT

0l-04-20144] r*m od
qrm fr qr
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m qt 1.4.2014 d rqQ+ rA * r

qrq (alT E-d s* ffi qo G * r wr qa g+ qt qt ftsr{c iFr qFlI i6-r {rF-ff

e?

(rs) BilTnr i{Frfrqc fr qnr o + wn-{ v6 qft' fr i{raffq Rtfr ++ ff:fftr
6iil?

SI TAI

(o) ffifr+o r1aRr* al aer+.+++ 6t+ ?

(i) irc+6{qrRda * qo rqfr fr ffi

(ii) fr<tqft E{ q( ittqm EiT qei.h;r

(e) et qR ft!ft 6-.dr B qrqrftc ffi w r quF{dfrq r

4. (a) Define the term assessee under Income Tax Act (5)

(b) What deductions are allowed uls 24 from annual value in computing

'Income from House Property'? (5)

(c) Explain briefly the deduction under section 80 U allowed to a physically
handicapped person including qualifying payments / deposits and maximum

limit. (5)

OR

(a) Valuation of Rent free accommodation provided to an employee by

employer. (5)

(b) Define Short Term capital Assets and Long Term Capital Assets. (5)

(s)(c) Explain the provisions regarding house rent allowance.

P.T.O.
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(a') ar+*t irBfrqq+ il?i-{fttfRftrrq*qftrrRcdfrq t

(€) T6{qfr enq* BdiTqrF*,rrtufrrrum qnr 24+ agtodfuer* ?

(.r) :rRr 80 u A Bnn-{ rifro sq t 3i-+Jq (Physically handicapped) qfu qF{Frd

wrf 3lr<m rqtrt *t i{Er6{qfrcrqit*q{soi{ql I

Srlfrfi

(m) w 6ffi +1 ffior cRI ft{qr t6 BmIFT }r+f, Er {eli.r-{ |

(ra) a-u-+rftagfiqqR+ eiltAffit, S{qft++ w<ndfrs r

(.r) Ua t*-trqr q'flI + crqum qr sokat r

PART - B

(rao-s a)

Time - One Hour Maximum Marks - 25 Marks

Attempt all questions

(lx5)

(a) Which type of audit is conducted thrcughout the year -

(i) Annual audit

(ii) Interim audit

(iii) Continuous audit

(iv) Complete audit

Auditing

1. Choose the correct answer :
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(b)

9

To overcome the limitation of audit prbgramme, the audit programme

should be -

(i) Flexible

(ii) Non-participative

(iii) Fixed

(iv) One common audit programme should be used for all types of.

organizations

(c) Which one is not relevant for verification of land and building -

(i) Original title deed

(ii) Architect's certificate

(iii) Board resolution

(iv) Stock register

(d) Contingent liabilities should be -

(i) Shown on the liability side of balance sheet

(ii) Shown as expense in profit & loss account

(iii) Shown in notes to account of balance sheet

(iv) Shown as income in Profit & Loss account

(e) Rights of an auditor are -

(i) To access books of accounts

(ii) To require information and explanation form officers

(iii) To general meeting

(iv) All of the above

P.T.O.
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rrou.ro (t)
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rolrs,o 'r,srr (l)

: c rpui pgrlrp hre+r€ la r-!6 u. +e (.!b')

: kUE >pc gu

0r 86ns
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(s) c*' irtsFo + irEnR *:

(i) Erdr gw-+l r+ rg+

. 
(ii) aemRi t qa-+ aw qrcer qGq

(iii) irm <rr +

(iv) Bc+tr{+

Explain the statutory rights, duties and liabilities
auditor ?

of a company

( 10)

OR

"An auditor is a watch-dog and not a bloodhound,'in the Iight of the above
statement discuss the duties and liabilities of an auditor ? (10)

v6'q'.q+ sr*tn-*. + +flft-6 sBr+'Rt-, 6-ffi 3fu erEFir- q.r qoIT frfrq I

SIefEt

..\o" si+ero' \16'ftrRrft qclr EEr i qr fr frrqflft Ef,r, Bc+tr qr?fi * y-6rsr I \'6
or+a-o. + 6-+q ft ErEd ql qui? frfrq r

3. "Accounting is a necessity, while auditing is a luxury for business
enterprise.'; Comment on this statement with reason and critically examine
the role of auditing in efficient and successful conduct of a business
organization. ( l0)

OR

Write a short note on the following: (5 x2)

(a) Audit Programme

(b) Continuous Audit

P.T"O.

2.
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IaItSl0 UPD (b[)

h'rg'rb lol?Sra (lE)

: tburg unlhg ElI )h pbug}.+g

t T6l!

I g h. l.lnrhP r.l}!D qto hIi+E g

I.otpp hrBblp f:ruit g ttsIqeIA lnltuh ,tnrlr-r.t>rr.p iE t)(b DgD ln)ltb Uohg )h llb-lh

EE ,l c ruurpg .l$ g hrshF $urDbho jbn toBsll gbrl\ 'c rD''rcbtbrE ]bl r'tblb)P,

i
1
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